MIG/MAG WELDING

trafimet -
EURO CONNECTORS distributio
-
Zrotimef
AT0004 S e
EURO central connectors - male
AM3109  Capillary Tube-Wire Guide EURO - AR0070 Spring pin
AM6102  Mini Euro body
MINIEURO BWO0230 Protection for mini Euro connector \ Simm -
CLCDUER EAoo72  Lock Nut 19 M2 FA026
QB0020  Blue Wired Hose 5x8 per m BX0700 — 1 =
\
AMO0053  Brass Guide Euro 27mm - 30 mm EA0128 oR

EURO axial
AT0001

EURO radial
AT0002

AM3001  Capillary Tube-Wire Guide 88mm

AMB000  Euro Central Adaptor-axial

BWO0010 Plastic Housing

EA0072  Lock Nut 19 M12

QBO0027  Green Hose 5x9 per m

AMO0053  Brass Guide Euro 27mm

AM3001  Capillary Tube-Wire Guide 88mm

AM6001  Euro Central Adaptor-radial

BWO0010 Plastic Housing

EA0072  Lock Nut 19 M12

QB0027  Green Hose 5x9 per m

STANDARD

EURO Nut
EA0018 M4x6
— == BX0700
= = BX0702
TT——asmmm  BX0223
BW0018 BW0020
plastic metal

-250¢

ATO0001

dimensions

weight

o= N
AT0002

EURO - AR0054 Spring pin

\ 36 mm
i FA0026

BX0700 — =

C——— ‘

EA0128 OR

EURO water - AR0052 Spring pin

FA0026
3 &=

BX0702 - ‘
EA0128 oR

EURO TW - AR0083 Spring pin

FA0027

EA0128 oR

All trademarks are of exclusive property of the respective companies | Data and images are indicative and may be changed in any time without notice | Copyright © 2012 Trafimet Spa | Edition 08/2013 288



EURO CONNECTORS distributi

5 wrotimel
EURO central connectors - female EURO components
CODE ~y
EURO axial - AM6000 AMO0034 brass guide 46 mm 5
EA0285 QB0016 AMO0035 brass guide 15 mm 5
— BX0223
EA0285 QB0018 AMO0038 brass guide 39 mm 5
AMO0053 b ide 27 5
— QB0019 rass guide 27 mm
EURO radial - AM6001 AMO0065 brass guide 35.5 mm 5]
EA0283 QB0027
X AM3001 capillary tube 88 mm 10
— BX0223 Y o
'\ ) ] Eﬁgggg iz ;Z AM3013 capillary tube 101 mm 10
AM0034... Y y AM3014 capillary tube 200 mm 10
\  EA0072 M12 i
MinEURG - AMB103 o q, ER0O2 12 AM3018 capillary tube 131 mm 10
N AM3065 capillary tube 124 mm 10
— BX0223
AM3110... . AM3109 capillary tube 60 mm 10
AM9001 current clamp 1
AM3106...
CODE ~ AMS0OT... EA0072 nut M12x1.75 50
AM6000 axial Euro body (f) 1 . EA0073 nut M12x1 50
EURO Housings
AMB001 radial Euro body (f) 1 EA0094 washer 2 mm 10
AM6103 MiniEuro body (f) 1 EA0099 washer 0.8 mm 10
BX0223 Female spring 10 EA0283 hose clamp @ 10,5 10
EA0285 hose clamp @ 10,5 10
BW0230 BW0264 QB0016 black hose 5x8 100
QB0018 blue hose 5x8 100
CODE ~
R QBO0019 red hose 5x8 100
BWO0010 Euro housing 10
- QB0027 green hose 5x9 200
BWO0014 Euro housing 2 holes 10
BW0230 MiniEuro housing 10
BW0264 MiniEuro housing 10 BWoo10 BWoo4 @
All trademarks are of exclusive property of the respective companies | Data and images are indicative and may be changed in any time without notice | Copyright © 2012 Trafimet Spa | Edition 08/2013 289




MIG/MAG WELDING

CONNECTORS

trafimet
distributio
A |

5 rotimet
7 CLOOS® - Air cooled torch kit NATIONALZ® - Air cooled torch kit FRONIUS® - Water cooled torch kit  =” """
M10x1 FB2294 ggmm M10x1 M10x1
I = =——" om0 d — = G |
CODE =y CODE [~ CODE [~
AR0140 Cloos® connector (m) 1 ARO0144 National® connector (m) 1 AR0152 Fronius® connector (m) internal 1
ARO0157 Fronius® connector (m) external 1
FRONIUSP? - Air cooled torch kit CLOOSP - Water cooled torch kit ESAB® - Air cooled torch kit
M10x1 M10x1 A
[[————H - [ ——— ]
e - [ i =g @W G
CODE [~ CODE [~ CODE [~}
AR0142 Fronius® connector (m) 1 AR0150 Cloos® connector (m) internal 1 AR0132 Esab® (m) internal - A = M12x1 1
AR0155 Cloos® connector (m) external 1 ARO0141 Esab® (m) external - A = M10x1 1
IOl TWECO® 1/4 - Air cooled torch kit LINCOLN® - Air cooled torch kit NATIONAL® - Air cooled torch kit
AS0047 M12x1 ASO‘048 M12x1 FBZ‘294 M12x1
| [ ———H
CODE L] CODE TECH. DATA [~ CODE PACK
AR0130 TW connector (m) 1 AR0134 Lincoln® connector (m) 1 AR0137 National® connector (m) 1
HOBART® - Air cooled torch kit MILLER® - Air cooled torch kit L-TEC® - Air cooled torch kit
AS0060 M12x1 MT0074 M12x1 ASO‘046 M1i2x1
[ ——
- i— o -
CODE (] CODE [~ CODE [~
ARO0133 Hobart® connector (m) 1 AR0135 Miller® connector (m) 1 ARO0139 L-Tec® connector (m) 1

T

i
290015

All trademarks are of exclusive property of the respective companies | Data and images are indicative and may be changed in any time without notice | Copyright © 2012 Trafimet Spa | Edition 08/2013

290



CONNECTORS - ADAPTORS cibuion )

Connectors USA

CODE = ]

Tweco® 1/4
JOHIH

AR0170 {””m 1
Tweco® 5
Lo JoHmo
Lincoln®
U (NN i
Miller®

Sy i

ARO0173

YiE,
Sen
en =
al
S

- 7rafmeal
Adaptors
CODE = &  CODE E ~ ’(

Tweco®2 - 3 - 4=)Euro Euro =9Cem ‘ '

AS0007 1 AS0023 IW :D][]l] 1

—

Euro =) Cea® Euro =9 Esab®

AS0015 IH I AS0024 “‘\|.||ll-\ 1

[

Euro =) Nuova Cerso® Euro =) Hitachi®

AS0016 :@E 1 AS0053
N—

Euro =9 Sinco®

Euro =) Tweco®2-3-4

AS0019 mﬁ (1] =) 1
N—

All trademarks are of exclusive property of the respective companies | Data and images are indicative and may be changed in any time without notice | Copyright © 2012 Trafimet Spa | Edition 08/2013 291




